

Bruno Truck & Trailer Inc.

601 Kirby Street

PO Box 309

Bruno SK S0K 0S0

(306)369-2790

brunotnt@sasktel.net

GST/HST Registration No.: 824492656

PST SK Registration No.: 2443190



## INVOICE

INVOICE # 20577

DATE 04-12-2024

DUE DATE 05-12-2024

TERMS Due upon receipt

YR/MAKE/MDL  
SAFETY '98 FL

VIN#  
2FUPDSZB4WA906225

MILEAGE  
48521 KM

ACTIVITY	QTY	RATE	TAX	AMOUNT
101A/MR782 SUSP BUSHING 16-18035-000	1	52.50	GST/PST SK	52.50
85724 85724 SHOCK ABSORBER	4	87.34	GST/PST SK	349.36
IMR534 TORQUE ROD 23.81 IN F/LINER	2	155.20	GST/PST SK	310.40
11-23853-001 U BOLT-RR SUSPNSION.7/8-14.390	2	56.60	GST/PST SK	113.20
DN78GR8 DEEP NUT ONLY	4	3.30	GST/PST SK	13.20
UBW80 WASHER, U BOLT 7/8"	4	1.90	GST/PST SK	7.60
AS7035P AIR SPRING CABIN, PREM	2	34.10	GST/PST SK	68.20
12008 12008 gladhand emerg	1	7.35	GST/PST SK	7.35
12006 GLADHAND SERVICE	1	7.25	GST/PST SK	7.25
9780 9780 AIR BAG	4	143.50	GST/PST SK	574.00
HARDWARE (NUTS & BOLTS) HARDWARE (NUTS & BOLTS)	2.40	8.15	GST/PST SK	19.56
1468-4B FITTING, 1/4" TUBE X 1/4" PIPE	3	2.60	GST/PST SK	7.80
1460-4 1/4 BRASS FURREL	2	0.80	GST/PST SK	1.60

Thank you for your business!

Payment is required upon receipt of invoice. Interest will be charged on all overdue amounts at the rate of 2% per month, 24% per annum.

Please ensure all wheels and u-bolts that have been removed be re-torqued in 100-150 km.

All after hours call-outs are subject to a \$60 call-out fee.

Monday - Friday 8:30a.m. to 5:00p.m.

ACTIVITY	QTY	RATE	TAX	AMOUNT
194 bulb	3	1.65	GST/PST SK	4.95
194 bulb				
94940 PIGTAIL	1	3.50	GST/PST SK	3.50
47253 LED BEZEL LIGHT	1	26.90	GST/PST SK	26.90
Sales ORANGE LENS	1	8.70	GST/PST SK	8.70
62171 LAMP, TRSN MT LEXAN SLD, BACKUP	1	9.55	GST/PST SK	9.55
LABOUR - HEAVY TRUCK	15.50	115.00	GST/PST SK	1,782.50
Labour				
Shop Supplies	1	100.00	GST/PST SK	100.00
Shop Supplies				
Freight	1	30.00	GST/PST SK	30.00
FREIGHT				
SGI Truck/Power Unit Inspection	1	190.00	GST	190.00
SGI Truck/Power Unit Inspection				
SGI Admin. & Sticker	1	25.00	GST/PST SK	25.00
SGI Admin. & Sticker				

November 7	SUBTOTAL	3,713.12
Safety 6 month PMVI	GST @ 5%	185.69
#1 both slack pins/bushings - monitor	PST (SK) @ 6%	211.38
Both glad hands rust jacked - replace	TOTAL	4,110.19
All air bags weather cracked, cords showing - replace all air bags	BALANCE DUE	
All shock bushings cracked, pushed out - replace all shocks		
#2 right spring bushing cracked, pushed out - replace		
All other spring bushings starting to crack/push out - monitor.		
Both cab air bags (sleeper) worn, cords showing - replace		
Both cab shock bushings cracked - monitor		
Right king pin has some vertical play within spec - monitor		
Left king pin has some side play - monitor		
Some clearance lights out on bottom of cab - repair/replace		
Play on steering slip shaft - monitor		
Play on driveshaft hanger bearing, rubber cracked - monitor		
Left front signal light housing cracked - replace lens		
Two stone chips on left windshield - monitor		
Reverse light doesn't work - repair		
Torsion bars bushings worn out - replace both torsion bars		
		<b>\$4,110.19</b>

Thank you for your business!

Payment is required upon receipt of invoice. Interest will be charged on all overdue amounts at the rate of 2% per month, 24% per annum.

Please ensure all wheels and u-bolts that have been removed be re-torqued in 100-150 km.

All after hours call-outs are subject to a \$60 call-out fee.

Monday - Friday 8:30a.m. to 5:00p.m.

Invoice No.	R101073704:01
Invoice Date	03/12/2021
P.O. Number	
Terms: MC	
Customer No	12559
GST No.	120053855 RT0001

Year: 1998	Make: FREIGHTLINER	Model: FLD120	Vin: 2FUPDSZB4WA906225
Colour: BLUE	License: 183 FBX	Odometer In: 36,984 MI	In Service Date: 08/18/1997
Advisor: AL	Contact:	Tax Exempt No.:	Pinnacle No.:

JOB#3 TRK-1300 RET AIR SYSTEM													
CONDITION AIR SYSTEM													
CUSTOMER COMPLAINT OF AN AIR LEAK ON THE DIFF LOCK SWITCH (BOTTOM ONE)													
CORRECTION REMOVED TOP DASH PANEL. FOUND BACK OF SWITCH HAD COME APART. REMOVED & REPLACED SWITCH. RE-INSTALLED TOP OF DASH.													
<table border="1"> <thead> <tr> <th>QTY</th> <th>ITEM</th> <th>DESCRIPTION</th> <th>UNIT PRICE</th> <th>EXTD PRICE</th> </tr> </thead> <tbody> <tr> <td>1</td> <td>101V/GTD 3220 1 TRK-1300-4</td> <td>AIR ELECTRIC TOGGLE LABOR</td> <td>26.92</td> <td>26.92 139.50</td> </tr> </tbody> </table>				QTY	ITEM	DESCRIPTION	UNIT PRICE	EXTD PRICE	1	101V/GTD 3220 1 TRK-1300-4	AIR ELECTRIC TOGGLE LABOR	26.92	26.92 139.50
QTY	ITEM	DESCRIPTION	UNIT PRICE	EXTD PRICE									
1	101V/GTD 3220 1 TRK-1300-4	AIR ELECTRIC TOGGLE LABOR	26.92	26.92 139.50									
JOB#3 TRK-1300 --- PARTS: 26.92 -- LABOR: 139.50 -- TOTAL 166.42													

JOB#4 TRK-9100 RET SEATS AND RESTRAINT SYSTEMS ... Picture of Serial number required.													
CONDITION SEATS AND RESTRAINT SYSTEMS ... Picture of Serial number required.													
REMOVE & REPLACE BOTTOM FOAM CUSHION ON DRIVER SEAT													
CORRECTION CUT OFF OLD RINGS. CLEANED OUT SEAT COVER. INSTALLED NEW FOAM. ATTACHED BASE. VACCUMED CAB. MOUNTED SEAT.													
<table border="1"> <thead> <tr> <th>QTY</th> <th>ITEM</th> <th>DESCRIPTION</th> <th>UNIT PRICE</th> <th>EXTD PRICE</th> </tr> </thead> <tbody> <tr> <td>1</td> <td>101V/NTS 235515 01 TRK-9100-1</td> <td>SEAT CUSHION FOAM LABOR</td> <td>43.95</td> <td>43.95 93.00</td> </tr> </tbody> </table>				QTY	ITEM	DESCRIPTION	UNIT PRICE	EXTD PRICE	1	101V/NTS 235515 01 TRK-9100-1	SEAT CUSHION FOAM LABOR	43.95	43.95 93.00
QTY	ITEM	DESCRIPTION	UNIT PRICE	EXTD PRICE									
1	101V/NTS 235515 01 TRK-9100-1	SEAT CUSHION FOAM LABOR	43.95	43.95 93.00									
JOB#4 TRK-9100 --- PARTS: 43.95 -- LABOR: 93.00 -- TOTAL 136.95													

JOB#5 TRK-3200 RET SUSPENSION																												
CONDITION SUSPENSION -																												
CHECK AND ADVISE. RIGHT CAB SHOCK BUSHING PULLED THROUGH.																												
CORRECTION REMOVED BOTH SHOCKS -SEIZED. INSTLALED NEW SHOCKS & ADJUSTED CAB LINKAGE.																												
<table border="1"> <thead> <tr> <th>QTY</th> <th>ITEM</th> <th>DESCRIPTION</th> <th>UNIT PRICE</th> <th>EXTD PRICE</th> </tr> </thead> <tbody> <tr> <td>2</td> <td>101V/GBL 83009</td> <td>SHOCK ABSORBER</td> <td>49.88</td> <td>99.76</td> </tr> <tr> <td>4</td> <td>101X/WUR 074.12.4</td> <td>1/2X4 NC GR8 BOLT</td> <td>1.16</td> <td>4.64</td> </tr> <tr> <td>4</td> <td>101X/WUR 335.12</td> <td>1/2 NC STOVER LOCKNUT</td> <td>0.32</td> <td>1.28</td> </tr> <tr> <td>8</td> <td>101X/WUR 410.12 TRK-3200-15</td> <td>1/2 FLAT WASHER LABOR</td> <td>0.22</td> <td>1.76 279.00</td> </tr> </tbody> </table>				QTY	ITEM	DESCRIPTION	UNIT PRICE	EXTD PRICE	2	101V/GBL 83009	SHOCK ABSORBER	49.88	99.76	4	101X/WUR 074.12.4	1/2X4 NC GR8 BOLT	1.16	4.64	4	101X/WUR 335.12	1/2 NC STOVER LOCKNUT	0.32	1.28	8	101X/WUR 410.12 TRK-3200-15	1/2 FLAT WASHER LABOR	0.22	1.76 279.00
QTY	ITEM	DESCRIPTION	UNIT PRICE	EXTD PRICE																								
2	101V/GBL 83009	SHOCK ABSORBER	49.88	99.76																								
4	101X/WUR 074.12.4	1/2X4 NC GR8 BOLT	1.16	4.64																								
4	101X/WUR 335.12	1/2 NC STOVER LOCKNUT	0.32	1.28																								
8	101X/WUR 410.12 TRK-3200-15	1/2 FLAT WASHER LABOR	0.22	1.76 279.00																								
JOB#5 TRK-3200 — PARTS: 107.44 — LABOR: 279.00 — TOTAL 386.44																												

JOB#6 TRK-3100 RET FRAME AND FRAME COMPONENTS								
CONDITION FRAME AND FRAME COMPONENTS -								
REPLACE BROKEN BOTH STEERING ANTI-SAIL BRACKETS.								
CORRECTION REMOVED RIGHT HAND ANTI-SAIL BRACKET & WELDED IT. RE-INSTALLED BRACKET. REPALCED RH CAC CLAMP THAT WAS RUBBING ON HOOD.								
<table border="1"> <thead> <tr> <th>QTY</th> <th>ITEM</th> <th>DESCRIPTION</th> <th>UNIT PRICE</th> <th>EXTD PRICE</th> </tr> </thead> </table>				QTY	ITEM	DESCRIPTION	UNIT PRICE	EXTD PRICE
QTY	ITEM	DESCRIPTION	UNIT PRICE	EXTD PRICE				

Invoice No.	R101073704:01
Invoice Date	03/12/2021
P.O. Number	
Terms: MC	
Customer No	12559
GST No.	120053855 RT0001

Year: 1998	Make: FREIGHTLINER	Model: FLD120	Vin: 2FUPDSZB4WA906225
Colour: BLUE	License: 183 FBX	Odometer In: 36,984 MI	In Service Date: 08/18/1997
Advisor: AL	Contact:	Tax Exempt No.:	Pinnacle No.:

JOB#6 TRK-3100		RET	FRAME AND FRAME COMPONENTS	UNIT PRICE	EXTD PRICE
QTY	ITEM	DESCRIPTION			
1	101V/BRZ B9224 0411FRU	CLAMP-98IN LB-CT,4IN. CONVOLUT	7.10	7.10	
	TRK-3100-4	LABOR			124.00
1	WLD	WELDING SUPPLIES	7.75	7.75	

JOB#6 TRK-3100 — PARTS: 14.85 — LABOR: 124.00 — TOTAL 138.85

JOB#7 TRK-3200		RET	SUSPENSION	UNIT PRICE	EXTD PRICE
CONDITION	SUSPENSION -				
CHECK AND ADVISE. RIDE HEIGHT VERY LOW.					
CORRECTION	FOUND ARM LOOSE IN VALVE. REPLACED VALVE & LINKAGE. ADJUSTED RIDE HEIGHT VALVE.				
QTY	ITEM	DESCRIPTION	UNIT PRICE	EXTD PRICE	
1	101V/BKS KD2290	VALVE	131.28	131.28	
1	101V/HDX 48100225	LEVELING ROD REPAIR KIT	22.94	22.94	
	TRK-3200-8	LABOR			294.50

JOB#7 TRK-3200 — PARTS: 154.22 — LABOR: 294.50 — TOTAL 448.72

<u>Please Remit Payment to:</u> FRONTLINE TRUCK & TRAILER 310 MARQUIS DRIVE SASKATOON, SK S7R 1B5	MISC CHARGES	28.25
	PARTS	562.16
	LABOR	1,790.50
	BODY SHOP SUPPLIES	0.00
	SUBLET	0.00
	MISC SUPPLIES	125.34
	<b>SUBTOTAL</b>	<b>2,506.25</b>
	GST	125.31
	PST	150.38
	<b>TOTAL</b>	<b>2,781.94</b>



310 MARQUIS DRIVE  
SASKATOON, SK S7R 1B5  
Phone: (306) 242-4911  
FAX: (306) 242-3171

Invoice No.	R101073704:01
Invoice Date	03/12/2021
P.O. Number	
Terms:	MC
Customer No.	12559
Customer Unit:	
GST No.	120053855 RT0001

## Service Invoice

Year: 1998	Make: FREIGHTLINER	Model: FLD120	Vin: 2FUPDSZB4WA906225
Colour: BLUE	License: 183 FBX	Odometer In: 36,984 MI	In Service Date: 08/18/1997
Advisor: AL	Contact:	Tax Exempt No.:	Pinnacle No.:

JOB#1 TRK-2100 RET TRUCK SAFETY INSPECTION ..PST EXEMPT			
CONDITION TRUCK SAFETY INSPECTION ..PST EXEMPT			
CORRECTION COMPLETED SASK SAFETY INSPECTION.			
QTY	ITEM	DESCRIPTION	UNIT PRICE
1	DECAL TRK-2100-1	SGI SAFETY STICKER LABOR	20.00 256.00
JOB#1 TRK-2100 — PARTS: 20.00 — LABOR: 256.00 — TOTAL 276.00			

JOB#2 TRK-3500 RET REAR AXLE			
CONDITION			
CUSTOMER COMPLAINT THAT THE POWER DIVIDER SEAL IS LEAKING THIS IS THE 4TH TIME, NEW YOKE WAS INSTALLED A YEAR AGO.			
CORRECTION WASHED OFF POWER DIVIDER. REMOVED DRIVE SHAFT. MEASURE YOKE END PLAY = .024" (SPEC .002"-.008"). REMOVED ROCK SHIELD ON DIFF FILTER AND REMOVED POWER DIVIDER FROM DIFF. FOUND INSIDE O-RING CUT. REMOVED BOTH O-RINGS. REMOVED SHIM STACK AND INSTALLED NEW TO GET FINAL ENDPLAY OF .005", INSTALLED NEW ORINGS AND INSTALLED POWER DIVIDER. REMOVED DIFF FILTER AND REPLACED. REPLACED ROCK SHIELD AS ITS CRACKED. REMOVED YOKE AND SEAL. CLEAN SEAL SURFACE AND YOKE. INSTALLED SEAL ON YOKE AND IN HOUSING. INSTALLED YOKE WITH NEW NUT. CHECKED ENDPLAY ONE MORE TIME (.005"). INSTALLED DRIVE SHAFT, GREASE U-JOINT AND CHECK DIFF LEVEL = OK			
QTY	ITEM	DESCRIPTION	UNIT PRICE
1	101S/DN P552518	OIL FILTER	6.30
1	101V/TDA 3264N1522	FILTER-SHIELD	15.97
1	101V/TDA 40X1233	LOCKNUT	45.43
1	101V/TDA KIT2916	O RING KIT	154.83
1	ENV50 TRK-3500-2	ENVIRO HANDLE CHARGE .50 LABOR	0.50 604.50
JOB#2 TRK-3500 — PARTS: 223.03 — LABOR: 604.50 — TOTAL 827.53			

JOB#3 TRK-1300 RET AIR SYSTEM			
CONDITION AIR SYSTEM			
CUSTOMER COMPLAINT OF AN AIR LEAK ON THE DIFF LOCK SWITCH (BOTTOM ONE)			
CORRECTION	REMOVED TOP DASH PANEL. FOUND BACK OF SWITCH HAD COME APART. REMOVED & REPLACED SWITCH. RE-INSTALLED TOP OF DASH.		